M-A/VHS
¥002°10°80 Wy

9G°L¢ €€l UN/PIS GLOEL

(3¥¥'8:39Lv511) (8'991 :382°20%°))
G/'9¢l N/ PIS = 3 v'Q 1 uyojonnig uyoT-'piS = WA/ PIS 8°991 : uyojopnig| 3 ‘s

8091 =¢ €l XG'ge
3/0'€Cl TV Nz yzH zualajidg
3 67918 UyojoyeN = 3 96696
3¢€8°19 1|0S/Janalsusyallyf/iensjsuyo 'zqe 39¢'8¢l
3 2£'806 abeJyleg-'si9/\'z0S "zqe oynig = 32¢6°/0L°L
3 ¥8'Gie [I8)UY-NY 8beljieg-'sIop"Zos /' 3 98°66¢
39L'vSL°L uyojoynig = 38L'L0¥'L
3 ¥8'Gie [IBJUY-OY abelyieg-'s1o)'20S /) 3 98°66¢
30000%°L abeujlog-'s19/\'z0S-9Y ‘MUl J8gablieqly ue ssnyosnz/beljeg 3¥9°20L°)
IV VZH

wuweiboid-v pun (ABI) NV "L ‘2 "sqV 61 § vVzH Bunuyosaiaqsyoialbiap



